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1 [bookmark: OLE_LINK15][bookmark: OLE_LINK16][bookmark: OLE_LINK21][bookmark: OLE_LINK22][bookmark: OLE_LINK23][bookmark: OLE_LINK11][bookmark: OLE_LINK12]Introduction
In this contribution, we continue to express our view on the issue of FDM between SSB and periodic TRS.

2 Issues
2.1 FDM between SSB and periodic TRS
The current spec so far only agrees that SSB can be FDMed with CSI-RS for beam management. In previous meeting, we have also pointed out that, FDM between SSB and periodic TRS should also be supported in order to facilitate potential gNB implementation. 
We also understand that, if SSB and periodic TRS can be FDMed, the TRS BW should not be influenced. The current TRS BW can be either equal to min(52RBs, BW of BWP) or equal to BW of BWP. So when BW of BWP is greater than 52RBs, when the SSB is located at the edge of BWP, and when TRS BW is configured as min(52RBs, BW of BWP), it is feasible to allocate SSB and periodic TRS in FDM manner. 


Proposal 1: Support FDM between SSB and TRS in non-overlapping manner without impacting the agreed TRS BW
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3 Conclusion
Proposal 1: Support FDM between SSB and TRS in non-overlapping manner without impacting the agreed TRS BW
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